F2oEBEMERE LB AR [22200711]
HETRSES AR LR [203060]

2022/11/03 FSYOBHE BA %
BEENE  EE -
BTEEHNE A0 BH
OB X i A
T 5 2% 3L 4 5% 61 7 8
Bt — BT 100m EE‘F B#G6) 11.16-18)|/KE BIK@®  1130-18)|&FH E=E@ 1135-18)|/IE HK 114218771 =182  11.60-18)|FFIR Zeam(1) 116221 FEA mHE@)  11.65(-08)|mA #AQ2)  11.66(-1.8)
B'BHX fi&Ts BHIX FAEH BHIX BHIX BES TS
st—mBraoom  |KE_BIRGQ 50.18| k& BES(D) S1.31 o B 51.93(& /Il K(2) 5255| N2 AE®@) 5265|1548 A% 52.86(7 Il FEAEBA) 5292k EE(3) 53.55
AR ) HE AN BHIKX E 35 fHIs BHX
=h—mBeom |1k _BZ®WQ) 2:01.15|R8& BEQ) 2:02.05|RE % E’E—I—(z) 2:13.25(# 8 HiKQ) 2:14.23|F0 % K#(1) 2:24.29
HES ttep :Fl7k.—, BEERMTER HKE
Bt —wE7o00m |BT 5Eik(2) 8:50.30[Fa KR 53] 857.71|/hF ZEE(Q) 9:01.81 [/ 5E(3) 9:11.21|N¥E E(1) 9:14.96 B4 fHEK(1) 9:18.19[EK =B 9:2043|5# —{h(1) 9:35.40
i HERLES nrc -;%5{”“‘1:[’,.—1 Cynthia HESHS HESLES nrc FHERLES
B —RETF PNl KB 16.73-1.0)[F%& &I 17.49(-1.0)
110mH(1.067m) [rn=) EPE
BHIK 1:3253[ &k =A 1:35.07| 2 H= 1:35.37|ZE =B 1:35.46[f2H KB 1:37.24|%B= 1:38.44[f@FH KA 1:39.25|F &= 1:40.34
Al SERE(2) Pi%; TifE ik @) B REQ B FTEQ) Al BH) Nk B&Q2) E%ﬁ% Jlilﬁm
B — B FAX200mR (AE —HH(1) i hiE H8H2) Mk HZEH2) A ) f3 BEA() W& ENEQ) NIt RKER1)
HE B-0) ngE EH EZ B KiFE EHQ) S HEQ) {112 }ﬁ‘s(n ER BXREQ) WA A1)
Tk FEQ1) BIA fif kK% EEOQ 28 8RO M {hik@) 18 &M@ e "EG ¥ BHE()
I —— 1m95 [ DABA2) 1mO5[FET EX 1m8O[fEE AkHA(3) 1m80|fB e IEE() 1m70| K& IEIJJ(Z) 1m70
i i AARS BES AhkE $BS f&Is BES
st —mEraEy O EAQ)  6m6IGIO| AL ER 6m26(-02)[#[E FiA(1)  6mi18G+08)[IFH FAFK2) 6mi7(-1.2)|BE FIFL2  6mi14-03)[FL FJEHA)  6mi4-0.0)[hH KK 6m08(0.0)[;EE #HX(2)  6m07(+2.0)
EoHE Gicadzar) fi&Te fFIs BHRIX BEE o) BEHX
BT R HiE [EEMI1) 15m05(+1.2)[FE FIFE(2) 13m42(+1.2)[FA FZE(1) 12m71(+1.2)[EB XZ(1) 12m64(+1.6)|[#AH FKX(2) 12m52(+2 6)|8a K FEER() 12m28(+1.7)[Ef ER 11m44(+1.2)[ 545 B R(2) 11m38(+2.6)
- — o D e wm L BARIAIX =B ARER
e " HARQ2 11m45| g k(2 10m83[:ATEF fFth(1 10m55 1 Im27|8 R RZE(1) 7m68
B B TR A11%(6.000ke) Ei - %gq%_ _ e HEm HE
i o ZB EFQ 11m62|EAEy —7& 10m33
A2 B TR AL1%(7.260ke) E‘;E’gﬁ) B —
. . " 2 34m60|JIl £ RAER(1) 34m50[/NSR R 30m70
B Eqmq%* ﬂiﬁg%e’k gé”ﬁleﬁg W 1B
_ S EE 45m54[IR T 47 42m80[iED A 21mo1 | Z 19m40
BBF X HO2D e sty Bt Bt EQINIETE R
R M sk | AR 32m21|ILA #E(2) 32mi6|ga AR XKZE(1) 20m99|Z ] BTRA(2) 20m63|HH [EE() 18m98[fE@ FEX 17m03
i E?i:i%.—; - ﬁéi%(&;é% s BEE pal=) Eos )
o N —5 32m07[iED AR 18m27
#2 5 F FIE45(2.000kg) *n o I
B k=== 0 7Tim30| LR [EE 5om17[dLE FIAF2) 53m95 AT (1) 41m39[MB WEM) 39m66 #m% HO 34m21|fE B (1) 28m57
PRA EFFER figiI e EHE BHX eVl
= &) 1278-1.2)|/NE FRE 12.88(-1.2)|#4E (1) 13.49(-1.2) Hil E75(2) 13.55(-2.4) J%-t 23(2) 1357(-2.4)|Bt5 BZEQ2) 13.66(-2.4)|#% EEEQ2) 13.80(-1.2)
Bt — K F100m HES —XI—v— HES BPE | = pan=1 Jerk= fHIs
IA %30) 13.49(-1.2)
Cynthia
st gpkzaoom | TP BEFQ) 1:01.88|HA &2 1:02.00[EE BEA 1:04.95|F+F ZHA) 1:06.51iE:8 2ER() 1:07.32[@&E DR 1:07.82[fER FRE() 1:09.03[}E:2 #&) 1:09.67
BEE fidi T S RS k& Eops ) pal=) pat=)
st — gk z00m | NE RO 10:16.75[ BFIR() 10:46.07[3# £ FEE 11:28.83(iF0 IR 12:27.14
KB+ BES Ei?é.—; BHE
B —RETF wE Q) 19.41(+1.7)
100mH(0.838m) HEES
HEEA 147312 F= 1:51.29| X E 5B 1:55.34| LS A 1:57.35| &L 5B 2:00.20
= EHQ) a3z 10) wE BMEG0) BE W B BB
i — Mk Fax200mR (FIE #FF(3) 55 BF0) #wx BFEQ) E 5 Ei BE
EE ¥50) FK BEEREQ) 5A& mEQ1) mH EE HE FEEB
=& BEQ) M ET75(2) WE FEH(2) BRE XA ES *"%B
i —mkraEm | A TR Sme6(+15)|EH EAHEQ)  m28(2d)|BR EE©) 5m2I+16)|HE FEQ2)  4m96(+1.6)|FIE MAETFE) 4m96(+20)[FK EW?2)  4m66(+15)|MH FE 4m48(+22) [ BE 4m30(+1.8)
OJAC S 2ER4m99(+09) | ST B BHE FES ZES ENE ARam2s(1 ) | YRS
Sk — R T B fzﬂi @MmF(3) 10m76(+1.2) ,ﬁ7J< %l&(z) 9m37(+1.2)
2 El_]
P — %iz+¥5(3) 51m08 I‘lEj/a(a) 45m01 %F FMQ) 44m23
2 El_]
Bk —BExFARE |WWE a030) 25m73 iJiJII 311%(2) 25m28| RIE BARE(Q) 19m05|EF EfR(1) 17m39[EFMA #ib(2) 16m51 |3/ T FE) 15m71[FIH MYA(2) 13m28[3F i EF(2) 13m25
(1.000ke) BRE HKE RHoh =ES &I =ZES HKE RHo
Btk — 5T Y6000 IRz FD) 28m76|3 Il BfEQ2) 20m66|I[ T FHE() 19m83|ETF BIR(1) 18m67
BHE BKE =ES ZEE

A GRARREHE




